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ENERGY FLOW IN A HARDWOOD FOREST (kl/ar’)
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3. What percent of the biomass i the forest community represented above is tied up i the shrub layer? Give your
answer 1o the nearest whole number.

In 2 population of cerlain frogs in which the
allle for brown skin is dominant to the allcle for
green skin, a drought leads to selection against
green-skinned frogs. When the drought ends,

12 percent of the remaining frogs exhibit the
green-skin phenotype. If the population is now in
Hardy-Weinberg equilibrium, what will be the
frequency of the green-skin alele in the next.
generation? Provide your answer to the nearest
bundredih.
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